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Trigonometric Equations

The objective of solving a trigonometric equation is to determine

the value of the variable, which in this case is the angle over a
given interval

Ex: If sinx =1/2

then x is the sin ™ (x)

i.e it is the angle whose sin value is equal to 1/2

From the trig circle, you can see that the angle is /6 and 5n/6

over an interval [0-27]

What is the solution of the above equation over an interval of

[0-4n]>
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What is the solution to the above equation over all Real Numbers
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When you have multiple trig ratios in an equation, always try to

switch to one consistent ratio using your trig identities.
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